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Dfrecﬁans: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

PART A: Vocabulary

1- Before you ----eeeee- to the next question, you should take some time to make sure
you’re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—----——-- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fasco

3- We were very unhappy with the --——----- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used ---=-=eue- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a -----—---- matter,
1) contradictory ~ 2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s -—--v- for commitiing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to --——-——-
forcibly.

1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -—-—-——- ,'' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) eonviction 4} deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
——-——- dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to ------—--—-- their
watches.
1) illuminate ) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) ==meeeame- the desired crop relatively unharmed.
Some of these act by interfering with (12) ~--------- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) =ememeeeee all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) w=emmemem-e as wildlife habitat.

Some plants produce natural herbicides. (15) =====—-=- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides, and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving



Y axio 339F (S ]S liiicadls andsy 03]

12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed
13- 1) and kill 2) killer of 3) to kill 4y which kill
14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4) includes

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the guestions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

The intertubular spaces of testis contain loose connective tissues. blood and lymph vessels,
fibrocytes, free mononuclear cells, and interstitial endocrine (Levdig) cells. Interstitial
endocrine cells constitute approximately 1% of the entire testicular volume in adult rams,
approximately 3% in bulls, and 20% to 30% in boars. In seasonally breeding males (e.g..
camel). interstitial endocrine cell volume and number may change during the year. The
interstitial endocrine cell is a large polymorphous cell with a spherical nucleus. The cell occurs
in cords or clusters, and not every interstitial endocrine cell 1s in ¢lose contact with a capillary.
Smooth endoplasmic reticulum (sER in bulls, agranular endoplasmic reticulum) is the
dominating organelle in interstitial endocrine cells. sER membranes incorporate most ot the
enzymes necessary for steroid biosynthesis. Mitochondria of the interstitial endocrine cell have
tubular crista and are involved in the first step of steroid hormone production (e.g..
transformation of cholesterol to pregnenolone). The relatively small Golgi complex does not
participate in secretion of androgen. Release of androgen from interstitial endocrine cells is
morphologically inconspicuous. Lipid inclusions are found in all species, but are particularly
abundant in cats. Between adjacent cells are intercellular canaliculi and gap junctions.

16- In which animals is the population of interstitial endocrine cells less than the

others?
| ) Rams 2) Boars 3) Horses 4) Bulls
17- Which cytoplasmic organelles are abundant in Levdig cells?
I') Lvsosomes 2) Mitochondria
3) Rough endoplasmic reticulum 4) Smooth endoplasmic reticulum
18- Which cytoplasmic organelles initiate the synthesis of steroid hormones in Leydig
cells?
1)sER 2) Ribosome 3) Mitochondria 4) Golgi complex
19- Which animal has the meost lipid storage in Levdig cells?
1) Boar 2) Cat 3) Ram 4) Goat

20-  Which of the following is correct in relation to interstitial endocrine cells in testis?
| ) They have elongated nucleus
2) They are usually located in close contact to capillaries.
3) The number of Leydig cells may not change in testis of camels,
4) They are arranged as cords or clusters in interstitial tissues.
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PASSAGE 2:

The histologic appearance of a bronchus in lung is generally similar to that of the trachea.
except that the various layers are thinner. Bronchi are lined by a respiratory epithelium
composed primarily of ciliated cells, secretory cells. and basal cells. Proximodistally, the
composition of the epithelium changes: mucous cells and basal cells decrease and bronchiolar
exocrine cells increase in number. At the same time, the epithelial height and the thickness of
the propria-submucosa progressively decrease. The propria-submucosa is a loose connective
tissue containing mixed glands (bronchial glands) in all species except goats: bronchial glands
are less abundant in distal bronchi. The hyaline cartilage of the proximal bronchi is in the form
of irregular plates. and the smooth muscle is interspersed either between or on the luminal side
of the plates. The muscle cells are generally arranged in a circular fashion, perpendicular to the
long axis of the airway. The amount of cartilage decreases proximodistally, whereas smooth
muscle becomes relatively more abundant. The adventitial connective tissue is primarily loose.
with many collagen fibers and variable numbers of elastic fibers. Many of the fibers are
oriented longitudinally, whereas others are oriented perpendicularly to the long axis of the
airway. Adventitial and submucosal nerve plexuses and intraepithelial nerve endings are
present. In most domestic species, the extensive vascular supply derives from the systemic
circulation via the bronchial artery,

21-  According to passage, the epithelium of trachea has type of cells.
1) only one 2) two
3) three 4) four
22-  In change of bronchial epithelium progressively (o terminal portion "

1) basal cells increase
2) the height of epithelium increases
3) the secretory cells increase
4) the thickness of propria-submucosa increases
23-  Which structural component of bronchi is absent in goats?

1) Glands 2) Goblet cells
3) Brush cells 4) Smooth muscle ¢ells.
24-  According to passage, in bronchi 5

1 ) the cartilages of proximal bronchi are circular
2) smooth muscle cells increase proximodistally
3) the measurement of cartilage decrease proximodistally
4) smooth muscle cells are arranged only in inner surface of cartilages
25-  Which of the following components are absent in adventitia of bronchi?

1) Elastic fibers 2) Nerve fibers
3) Collagen fibers 4) Dense connective tissues
PASSAGE 3:

Thick myofilaments in striated muscle fibers are composed of myosin-11. formed by two heavy
chains and four light chains of amino acids. The two heavy chains twist together to form a rod
like tail with two protruding globular heads. Two light chains are associated with each head.
The heads have binding sites for actin and for adenosine triphosphate (ATP). In addition, they
have adenosine triphosphatase (ATPase) activity. Individual thick filaments are bound by
bands of C protein. which stabilize the filament. The myofilaments are arranged to form the
light and dark banding pattern visible in a longitudinal section of the myofibril.
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Adjacent thick myofilaments and overlapping thin myofilaments form the A band. Thin
myofilaments do not extend to the center of the A band, leaving a more lucent region known as
the H band. The thick myofilaments are interconnected down the center of the H band by an M
line. The M line contains myomesin. which links the M line to desmin, and creatine
phosphokinase. which helps maintain levels of ATP for contraction. The pseudo-H zone is
present on either side of the M line. In this region. thick myofilaments lack protruding
crossbridges and the area appears more electron-lucent.

26~

27-

28-

Which of the following are thick filaments stabilized by?

1) ATP 2) Myomesin 3) C protein 4) Myosin-I1

Which region of a sarcomere lacks the protruding segment of thick filament?

1) Pseudo-H zone  2) 1 or light band 3) A ordark band  4)M line

How are the light chains of myosin Il arranged with heavy chain in a sarcomere?

| ) They are arranged two for each head of a heavy chain.

2) They are arranged only one for each head of a heavy chain.

3) They are arranged two for each rod like segment of heavy chain.

4) They are arranged in longitudinal fashion one for each rod like segment of heavy
chain.

Thin and thick filaments in a sarcomere are overlapping to make up ---------—- "

1) Pseudo-H band  2) A ordark band  3) 1 or light band 4)H band

How is the level of ATP stable in M line?

1) Desmin links the myomesin to M line.

2) Myomesin acts as a cofactor for creatine phosphokinase.

3) Myomesin linked to desmin and creatine phosphokinase.

4) Myomesin makes a junction between M line with desmin and creatine
phosphokinase.

T e et

ﬁ'ﬂu__.u I..ASJ-::I e Fjéjdn.“ 4ty .pja’.‘i:u.g ﬁ,ﬂﬂ JL‘E.';-Lw alas J..S..Ll_ 39

GusaVB ) i(F ovgaVligen (¥ jebgen (Y a0
(o oo baw (Somite) Cologw ds Casund plaf oy 5

ki 2955 (T & 57 y5lme pyog e ()

P P05 4l (F ol p)ogre (i asla (Y

-

-¥Y

fo50 5929 3iggl 00y o Jobu 3l Suplas oLl JoSdsh Sy jo -FY

agl ol (F b el (v wselad 4z 5 (Y 555! O

falbl oo Jobw Soluil plas 31 oy £939,51 Lide —Y'F

Mmgm1 56;;- ﬂ; L;}lf alfwo &3 ng.l..s}:m {T P88 {‘I

Ciaml o0y0935T Licio (ol)lo jlis b plas —YA

Fn..i.ij |_.....:1JdJ...:|£l:f ;....:_3.: Itlj.."l-_'h...mﬁ” “:"‘45'1 IHJJ{T e aae 03

13,18 plia> (i 7yl Ll (p 5 )15
__v,._f:-}:.‘:‘ﬂ (f Osepe8 (Y GB.._LI..aT (Y 83} At (}

-Y¥

¢cwsl Endotheliochorial JU ;o sligoil & jame 4 wlilgas 3l 0g,5 plas caas TV

F (F sl OF ol (¥ 5 ()

Tl plaS i (Leidig) Sl gloJobe S Lice -YA

paadigad (F peli ! (¥ il e (V paedigre ()

TS o0 1oy jled i 53 5 Cand plas jladdgl Jgs pl> T4

03 5 daneS (¥ S (Y Ji=le (Y Cletin] e ()



¥ axio 339F (S ]S liiicadls andsy 03]

63,10 ouiail jo L 03 gl Jodw j) Suplas  —Fe

g gl ol (F ool Johoo (F Coiag i Joboo (Y 95 Jobo ()
fedy walys o j (lawsh Ug)) Bladi ooy MY (reiar i) jl slal po 4z o
gl 51 s alolsdhy (F e— e Ay Sako oz (¥ P

¥

ﬁ.'uu.nu‘_:n JJJHJ.:.\»' |J .mi:j- F?..lf -FY

Pl 2 aile ol s oS ()

el 4 (F95 Plo ol HAS b (F

Sl ol a5 4393l Sl el ol b (Y

b gill Cmgilo ponsl 4o adgl Conwgilo ol i Jiaud (F

12391 oy 1) 0 jhe pluS wuld 30 (Jbs) Z3l pelw —FY

Fetal abdominal cavity ;o> S5 e 8 ()

Fetal pelvic cavity ;bs; & o,e (Y

Chorionic cavity s ,s5 e a> (¥

FFetal thoracic cavity s> slas oy (F
Sl o i Slgas 4> ;0 (Elongation) cowgindl ol hgb —FF

S (F el (¥ 58 (¥ e ()
fasyl o0 dgrgs oty plas jf Sl sloazsle  -FO

Sclerotome (f Dermatome (v Myvotome (¥ Neural crest (A
fewl plus (ofic placodes) olgih claogs™ clice —FF

pyogl (F pyg5e (¥ g1 O gt g ()

faid eo L1 oole o dulgi olfiiuwd | caound ploS 4o Ygome &) ~FY

opaas! (F el il (¥ o> e (Y Joz=l (O
TS o )10 0 (i 50 1) o g Sl 3adbo (o BLI )T 5 JLiS L plas —FA

Ductus venosous 5l ¢l = ()

Caudal vena cava ey J5 e 5 al (Y

Oval foramen _a4 31,60 (¥

Ductus arteriosous 5,3 s sl (F
00 uf o0 Lo Ji 239955 T dsY 31 039830 32 & iz (3o jl 4l plaf puliilie  —FQ

o Azl (Y e 2 sleeludl 4l ()

s ali (F A 4=l (V
ol plas (Primordial germ cells) o 8T awca sl Jobw slice  —B-

el g (¥ 83 S p,39031 ()

Za D E;i (f it gt (1
o g0ges (bl eIk
Pudlon £ oIS 5l Coangs 53 dusliw 0ud (233 (gm0 (indigy 8L -0)

slalgin! G35 adae (F shilgis! Galne (Y =5 gudao (¥ sy gadao ()
flwl pdos SGplas 5o aius dlox  —4Y

Gloalin Joha(F a5l alic foba (¥ e Joba (VB alae Jolu ()
3R Wl o0 Dgme 052 S Jlesl g5 ) glbal i gann -OY

S (Y Lo S wuded ()

solad slaslul cawlo (F &5 83 (Y
il o0 j9pmd £9 jl D9 pad Lol plas o -OF

Lg!aﬂ.c Ot S (F l_s‘a..'u..'..) w8y a8 (V ..,_.315' w{'l (Y <L)
U PPV IR P MPYRUIY

agill gy (F aadgl (g (7 Jgadidg o (¥ sL



Y axiuo 339F (S ]S liiicadls andsy 03]

€19 9929 (g0 ) o 4y (peig 1y JRI I Jlad loJolow j8 ok i)l plus” -BF

S5 ol (F Jg b (Y pazgsd (¥ psig ()
ﬂ m'&M 23 Lﬁhd**:'.:jj‘ (Gaoh ..'L.:JJ Al 3450 48 -av
Sl e lezial Jab oy cel (Y ol BlAD Ba i iz 5l ()
ol 0ty gily b ool b puilis Ll e 4o (F ol allt gslaslysl 58 mssle, SL (Y
fogu oo oo b 00y 0 Jobw pw Jlail pluS bwgl Al sl JolwouclE -0A
Jledass (F Pgjgessd (7 Poigomd go (¥ pSma ()
‘.‘.:.,..‘.ta‘;n o liug n..s-glpluhf g9 Nissl J.—.J ,nl-—q-* -84
sdnalljs Jobo (F G5 ok (7 s b (V sas Jobo ()
fo9u o0 plmil @ 5b a2 3l (Flado By pac 4dk -F-
Bypae 35 59, (F Jbgsras gala (¥ gz (¥ Py S 5 ()
ﬁ'ﬂl{gn it bae Ll 61)1‘.& *_E.MH.H.M leﬂ‘J-Il[f'ﬂ j,f S plas 4
gl (595 (F 35 el (7 eaj95! (¥ S s ()
e GMas ek 5 50 b pedges oS jlw jl odw 4> o (Inter Calated dise) JSl bghs -FY
Yogu 0 0au0
H il (f L las (v A Ll M L= ()
fall oo g9 ax jl giapm 0Oy (g =L -FY
P ,_';...:).niw (f Gelae a8 (Y sales | eaSs (Y salw (glailgil ()
3 O 0 Dgxo (Guiaed Cdl 932 w) slacabaes  —FF
s> =l (F g pat 8L (Y s=ae Sl (Y el Eé ()
fogu (o0 0ol 42 pg5al bawgl (01930 pf (Jobw Ul Bi> 7O
sl e (F JetessS e (T Jsragiay (¥ ksl O
$ow! (Perichondrium) sy jwis o p 236 5 cloddg pas jl Suplas —FF
(ntervertebral disc) (glo e o Seus (Y ear pinna s gy ()
Nasal Cartilage . 35,22 (f epiglottis wal5 ! (¥
Togu o Sl ylazeinl 2o megakaryocyte Jolu 3l 53 Jas ol ol 5l Suplos £V
S (Y CwglgSid ) ()
s (F el (¥
primysium (¥ Endomysium ()
faseia (f Epimysium (¥
fuubly oo sLbd OBl g5 oo lisle j) Suplas —F4
ua (F SHS Bl (Y7 (&8 g2a (Y paygpd ()
folly oo (0 )T ghem £ 3l SplaS iy og V-
sl Jls (1 gl (1
2l (Sl eas sla Jelu (F G5 0sd gla Joloo (¥
Tlasl plas Wgi' 3l an (g jladss U (2 it~V
a5 (Y Jloes ()
335 OlgFl jae (F 7 Dyl jha (¥
¢l L5 gt M ;:.quLi sala ng.u- plas —¥YY
005 g0 bl (g1 8 slon 42 53 el 7 &1 oA (1ol 38 30,8 JoalS (30 5833 3 (i sS VY
e g (F =S (Y S = p (Y LET Y5 SIS S

10,15 0529 gaac pluS ;0 ool glailgiwl iubg cdL  -YF
s s (F o (¥ &5 (Y Y, (3



A axio 339F (S ]S liiicadls andsy 03]

il (g e (5305 g gyl Jodow oS -V B

jo b JelS (F S el (Y S o (¥ Slogad oy ()
Y00, oo oanlice pj slo sl 3l Suplas jo (Ruffini corpuscle) 8l cae o Y7

Sy o0 (F Corg) g (T Ceugr ppanl (T 9o slo JoStgs 2le (3
€818 g5ty le S gt 48 Jokuw plos — YV

g it (¥ e giian! (¥ S g2l (Y CawsDg et ()
9l o0 0L geac plaS 0 Ay YA

d.._.IJS' (t 03g (v sz (T ..le (3
] PIAS 4lS G9d 00 (5 pibdd iy Y (1 e — YA

slsesls (F 5Y g5l (Y VS (¥ WENIT
sl pidans g8 £ai P ol jge plas jo —Ae

il St (F pepiSun (U slojas s S (F st
wobas] awlidcsl
fownl golis dlga glyls Jlj jp plas —A)

S5 e (F J5 (slog e (F J5& S5 bz ()
£, U 4 ol ukdh JaK5 (o i Jglos Y S5 3 Camasl 5 45 (fkacks jf JgSdh —AY

ol (f adgl (¥ augili (Y b ()
flwl c29 a4z 3l Anlll aligy <8l —AY

T . B sslus (sladlgzl ()

et e o iRt (F 7 s altl o P e\
fogui oo 00 o 30 5 (2lyi jlSuplad j0 oy oue —AF

ek gl (Y el slyl ()

(it doxll | dlised K3y (F 2l 4l SEg (7
sl SISl5 JED a5 (399 S 31 Syl i slaasly JS —AD

;5 iz (F g (F edgenn (Y Sy il O
oamsl Bb s B 03y Hbs Lo Jl duoli plaS 10 dgpe aY -AF

gy dieb g (GOlEe sl Jobo &Y o (F bl aab slaas¥ (oo ()

Ghae aid Jsbo y palo a¥ ( (F bl pj 5 (Dlas 4l spil> 4Y G (F
Cogus oo oo 3 syl 51 SGplas jo (parietal cells) ii) o gla Jabs —AY

o (F sog, (F saas (¥ 25
il plaS (g9l Fod 0us 15 4l () Yoy —AA

o YeSld, 4l (F LY gSewld 4>l (Y Yada axli (Y I39)g paglS a=li ()
Fa,l8 b dz | was ol g 5 —AR

ey ol (F Slg (T Cusg 233955 (V 3554 ()
i 1o ol 4 guiaS slajls Sl -A-

ol sl (F oS (7 JSea (Y a8 yil(
flwdl i plas 3l olylgsile o pn doligy <8l -A)

OIS ebae (slailyzl (Y Galan gaaSin'l()

L rlan o8 (F L e ekae a8 (1
fluil Bgyno a ) U35l 4 p) o Jobw jl Suplay AT

L5y See (F Ay (¥ i Gl (Y Cegrigetansy ()
ol (£ 5 4z jlaidg i oud (2l glausly Lhudg c8L AT

gk afa(F sl 8 (F asls (elastyzl (¥ sols a0



A axino 339F (S ]S liiicadls andsy 03]

Ol s i BLI oIS 51 Dikos dulS JguasS  -AF

Sl (F ST &g (¥ A, O
fand oo plonil o2 jotawsTU Jos asdai p ogdle ddy gy Joluw 5l Suplas -0

A dg gslagenl (F (595 gilag sl (¥ Sl (¥ g ()
foguie0 rgoad (59U LBl (p 35l (SBL 4z o Il L AP

St (S 3L (Y e il ()

odd ad S sanes sl (F el o5 e (goups AL (7
fadyls Clleo Clb clvasw jo JuSLS 0 B a5l SGelas Y

3,15 alpj ¥ (F 3,5 e (V 3,15 gasl (Y 3,5 2 ()
faiil (o e i o)l plas jo Josdy SLIL QA

(s3latl sade (F asg bl (¥ el (Y %k O
gl oo odudiay ) sledabu jl Suplas g (5500 oy Ol ja> -4

Csbel (F e Jobo (¥ Sls (¥ peay]
090 (o2 odblin ) )lisbo plas (ggladd (gledls 10 (635 o azily ol e

g (F Jlb (Y 2l sla (Y Sslad eade ()
Taiyle 51,8 4l plas 30 SO L a0y, Jigp dae -V

e (F Ll (T L 5 (Y 590 ()
fogud g0 0 d 1 )L Lu jI Syplas 50 (] 3550 gloJghes 1o

oila SOVl (F Cowgs dsbias 0 (Y oSl 8 Siye sla el ()
i ls 3929 sué plas o Oxyphil gllsle VoY

(G pge) Jlass (F Sdg il (F g (T g ()
w10 852y (535 o wlasl g aniw o8le )0 g gla gl 4o —)-F

Cmgetidg S5l (Y Wl g e ()

g Sy ol (F 39 eed g sl (7
Sl L bu plaf Jolis g50500 55t —1ed

il e JoeS (Y s> ag JgeneS ()

Foesld S JLsile (F SFaresls ol Jhlse (7
Sl £ 95 1aS (B 1 Lo ppuling] —1of

ke 4t glasle) (F oolur b yiim (Y iz Bl (7 asbes slailgzal ()
sy ol (ol s’ Jol> 0 slboduoy des —eY

Figmmegibe ! (F Pgle el (1 Fagerel (F 55l ()
€0,15 0929 Jlail g9i plas jglxo (Joi pao Jghow 9 (pr —10A

i) hamie Jlasl (Y Payaca (gamy slaadjey Jait ()

Paigesi so8 g Sgiia Jlail (F 10453 5 Ogana Jlasl (F
D)0 (il SldeSales a jl > po plas g0 (21> g (Ao 4Y g0 4 JeSded ST AY bad -4

$0 s (o0

sl Js5dgé (F Lﬁjim Jiidsd (7 4l JoSs8 (F &l Jssdss ()
Sl cprogd] 7e 5 Jadans § aadll el ipaz (61510 oy gl 5 s plaS -1

Infundibulum sge.aitasl (¥ Magnum »s:%s ()

uterus >, (¥ [stmus a5 (7



Ve axio 339F (S ]S liiicadls andsy 03]

s gl
Pl 08 35 1oy (g oo ol 4 5 Wililgun 51 Soplas” b5 oo (Folliate) JS& S cbojn -1

diigS (F 5 (Y ] (Y S ()
19,12 3529 lgan plas )0 by gm0 35,5 WY

35 (F Azdsd (Y D | s ()
¢l o (Fetlock) oS o Laio alas oL -1

Py a3 4z pga iy (F B o (V' pgrona Jlan (Y 2aSlan W0
3,15 0929 olan> plas o (Gluteobiceps) Sy w30 o jw adae -11F

Sew (T a5 (Y aal Y a5 ()
fowl plus als pluil @ olw jas F 15y o9 Jodae 110

s> SLLLE S0 (F 3 S S50 F w3 S (Y G Bee F 5w ()
fawl clodé paé g clodd it 90 ;0 &)1 oylaas pluS solu sure —)IF

o)y (F @S (T S (¥ ! ()
T ylgua plas ol (Ceacum) pafw o jioliss -1V

» (F g (T S (Y wmen] )

il plas L) ‘;'.'SJ:A- as —1YA
Facial n. ,ge wuas ()
Glosso — pharyngeal n. _al> _bj wac (Y
Vagus n. Sy caas (¥
Hypoglossal n. _Jbj 5 cuas (f
"-1:!5.-:,15# s i ‘-,-,:J ,_5'4.&..:...;-: 4.:.'-""-.! Jﬁ l.F"'""“'"l O u!}:.? PIJAIJJI -4

o5 (F . ) wnns! (Y g aiiasd ()
ﬁ'wlﬁdﬁ;ﬂtﬁw&“hﬂ -\r.

2,5 (F byl (7 Sy (¥ S SO
FOlS oo ygue b lacl lgaiwl plas 51 1Y)

&= (F Srgn (¥ B (Y laibal ()
3,10 pli d> o i By pad (S yp IYY

sl il (F ez B (7 sgal> (Y g ()
Yogd oo sunliv S g0 laad Gjlj.n adL plas —\YY

=S (F sligS (7 2 e (T ) 25 O
il Gl Byl 4 (59,95 g $1)10 02y SLELD (g plas o ITF

Ll CF LF (Y 5l (Y Sl

Pedd sl ol YYD
ol S 919, L &Y e (F 2,5 g 5 ol e Sen 515 g 3.0

el Gg et oS plon (F ol S ppo S gl Y plea (T
bl oo (Jolo slo)lei 5110 (9195 9 pofw (lgna IS jo TP

319 AiiasgS (F S S (Y i)
¢l (Transverse foramen) oo e 0w a8 las slas o gudbl o g 1TV

& (F sl (Y S (Y 4,5 ()
fa,le 518 xS o Ld3 (Sino-atrial node) g3lso - wginw o5 -1TA

(Terminal crest) lys! jcw s (Y Syle 418 B 659,8 uptew gals 43 ()

251818 B grdas B )lps (g5, 0 (F Syl 1R Gl sl o)l 5, 0 (T
(o9 g0 ey Sl Lo plaS bawgi £l cjho aale —IYA

Mg (P S sl OF el alal(f (s slasil €

?ﬂ’.ﬁ‘:n (R JQS..HJU ,.li LY t_,:lh‘_,f.;...a_,.: ..‘:_-,1}‘._\'.# p'..'hf = Mﬂ l.'..dl: E.h.u L -1y



| | | S| (| j
|

]
]
]

L I ] 1 ] 1

g

1 e e ey

J
:
J
:
J
)
W
]
|
1
J
:
}
)
}
:
}
)
}
)




www.isijournal.net

[

1

L






